KEHEX, 1 HAICT @A -2 —0REZITL, ERASNKEZD LI,
HEZHERLFET,
KEMEF, BERHEICHBMEZMA-GHEICHEREZRLEETY.,

INABHEYDKEHER CHERKRE)

A=A —
DA% HAXK=E HEARXHE BERE1MLEA—FMILIZDE
(p)
11~20 | 21~35 | 36~50 | 51~200 | 2015%:%
1IMNBIZDE | IMBIZDE [LEA—|LEA—|SLFEA—|LFEA—|A—FIL
FILET|MILET|MLET|MLET| RE
= . 10325 A — b
132 1) A Hl’)bi’@ 1,407H
= . 10325 A — b
203 1) A Hl’)bi’@ 2,814H
= . 10325 A — b
253 1) A Hl’)bi’@ 3,110
P 200 229H 296 369H 547H
= _ AR —
403 1) A Hl’)bi'@ 5, 780H
= . 103L;EA— b
503 1) A Hl’)bi'@ 20, 023H
153 A—k [103L;EA—F
JL Uk JLET 29, 673K
BEAXHEE [ (10MET) + { (EEKE—EHKKE) xBEff } 1 x1.10=KEHE

KEAEKRFOREEIZ 1 AXREOIRBNEL-ESBFUVETET,




